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| 10-- SECOND REVISION TEST 2025
winata=l: NIRRT SCIENCE ¥ T .
Time :3.00Hrs =~ PART-I

- Marks : 75

"Note : (i) Answer all the questions. (ii) Choose the most appropriate .
answer from the given four alternatives and write the option code and 23
~12X1=12

~ the correspondmg answer :-
1. The eye defect ‘presbyopia’ can be corrected by
£ ; a) Convex lens - b) Bi focal lens ¢} Concave Iens "~ d) Convex mifror
2. ' Which of the following is correct? - ' :
a) Rate of change of charge is electrical power

~'b) Rate of change of charge is current

c) Rate of change of energy is current

. d) Rate of change of current is charge ,
3. Sound waves travel in air with a speed of about ..........s at NTP

a) 340 X 108 m/s b) 340 m/s* ¢) 3 X 108 m/s d) 3 X 10¥m/s

4. Atom|c1ty of phosphorous is ......... : : .
a4 b) 3 c) 8 - d) 2
B T i e s is an important metal to form amalgam.
: . .a) Ag g b b) Mg c) Al d) Hg
. 6. Hard water contams | _- i e
. ra)Calcium - - b) Magnesjum . c) Potassium d) Calcium and Magnesium
| 2 7 The -endarch condition is the characteristic feature of
¢ a) Stem 'b) Root c) Leaves c) Flower
8. Who is Regarded as the “Father of Modern Physiology? ,‘ ‘ _
- a) His - Atriao b) William Harvey ¢) Koal Iandstemer d) Edward C Kendal -

roid gland c) Anterior Pituitary  d) Hypofhalamus
o omere at one end with a short and long arm rod shaped
T 10 The centt - C) Submetacentrlc d) Telocentric . .

-'a) Metacentric. b) Acrocentric
osed by

- : d disuse theory was propc
1._1:‘* The use an c) Jean Baptise Lamarck d) Gergor Mendel

9, LHis secreted by
Ra) Adrenal gland. b) Thy

..., a) Charles Darwin b) Ernst Haeckel .
S is a rice variety produced by mutation that grows. weil in saline soil
B a) Sharbatl Sonora b) Atomlta ) Pusa Gaurav. d) Hlmgm
‘ PART - 11 | 7x2_14_,
ey Note Answer any seven questlon. QueStlon No. 22 is compulsory
13, State Newton s second law. - o e - .2"“’}1‘ ’
14, State Soddy and Fajan’s dlsplaceme”t law. | oS5,
15. Giveany two examples for heterodiatomic molecules /,f’f/?f*itéquf‘".,’,' :
16. What is aqueous and non - agueous solution? - o -'53003’%t4~,°’/,l?’?;{4'&(
17.. ‘Name the three basic tissues’ system in flowering plants. .\;,%%:/4_ %Y
18. Who dlscovered Rh factor'? WhY Was] ftname so? . .o g
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Match the follb'wing - : “ard W,
Collumn-1 .~~~ column-2 Ao Vo,
a) Fission | S - gpirogyra NN, 20
b) B ; , ' -, 4, Kop g Ay
) Budding | ’ Amoeba . ey sy N g, "9,
¢) Fragmentation ~ - yeast . 9o Vg M R,
List the theories postulated to explain the origin of life. ‘?3)&/')’0,"’
~What is Stage? \ ! ' : ' it T e -‘SOG-
Calculate the P* 0.001M HNO.?- ’ | o -

I R PART - IIT .
Ex°tle‘“- Answer any seven question. Question No. 32 is comP_U'SO"Y -
ra‘f;;ngﬁl;;rule‘s --for obtaining images formed by a convex lens with th? help _Of“
List the merits of LED bulb. : .
a) Write any two application of “Avogadro’s law”, -

b)_ State two conditions necessary for- rusting of iron.

Differentiate soaps and detergents. '

a) What is vascular bundle? IR,

b) Draw any two types of vascular bundles. : ,,

State whether true of false, if false write'the correct statement. © |,

(i) @) In apoplastic movement the water travels through the cell membrane and-

- enter the cell. b) Cerebrum controls the voluntary action of our body

(ii) Draw the Adrenal Gland and label the parts.

- How do you differentiate homologous organs from analogous organs?" ‘

Discuss the importance of biotechnology in the field of medicine.
a) What is metastasis? : B ko

b) What ate the objectives of the POCSO act 20127 - ; ,
a) At what height from the centre of the earth surface, the acceleration due to
gravity will be 1/4th of its value of the surface of the earth. ' e
b) Calculate the resistance of a conductor through which a current of 2A passes,
when the potential difference between its ends is 30V. ' Y -

' "~ PART -1V N 3X7=21

Note : Answer all the question. Draw diagrams wherever necessary.

a) Derive the ideal gas equation. (4) R .
b) Name any two devices which are working on the heating effect of the electric

current (2) A ,
c) Spectral lines having frequency other than the incident ray frequency are called

....... (1) (OR)
a) What are the applications of Doppler effect. (any two) (2)

b) 'X- rays should not be taken oftern’ Give the reason. (5)

a) What is an alloy? How is metal corrosion prevented? (5)

b) What happens when MgSO, 7H,0 is heated? Write the appropriate equation.
(2) (OR) S -
a) What are called thermolysis reactions? (2) _

b) How does PY play an important role in everyday life? (5)

a) How does locomotion take place in leech? (2)

b) Why are leucocytes classified as granulocytes an
cell and mention its functions. (OR)

a) How is the structure of DNA organised? (5)
b) What are the importance of rainwater harves

£y

d agranulocytes? Name each

ting? (2) il
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